

NO NAME — CHRIS CRAFT



Builder: CHRIS CRAFT LOA: 29' 0" (8.84m)

Year Built: 2014 **Beam**: 10' 2" (3.10m)

Model: Center Console Min Draft: 1' 6" (0.46m)

Price: PRICE ON APPLICATION

Location: United States

Our experienced yacht broker, Andrey Shestakov, will help you choose and buy a yacht that best suits your needs **No Name** — **CHRIS CRAFT** from **our catalogue**. Presently, at **Shestakov Yacht Sales Inc.**, we have a wide variety of yachts available on **our sale's list**. We also work in close contact with all the big **yacht manufacturers** from all over the world.

If you would like to buy a yacht No Name — CHRIS CRAFT or would like help answering any questions concerning purchasing, selling or chartering a yacht, please call +1(954)274-4435

No Name — CHRIS CRAFT

TABLE OF CONTENTS

TABLE OF CONTENTS	2
SPECIFICATIONS	4
Overview	4
Basic Information	4
Dimensions	4
Speed, Capacities and Weight	5
Accommodations	5
Hull and Deck Information	5
Engine Information	5
DETAILED INFORMATION	6
Standard Features	6
Standard Equipment	6
Options & Accessories	6
Engine Preformance	7
Electronics	7
Deck Configuration	7
Exclusions	8
Disclaimer	8
PHOTOS	9
Bow Seating	9
Bow Table	9
Forward Seating	9
Helm Seating	9
Helm Station	9
Custom Mahogany Steering Wheel	9
Helm Station	9
Bench Helm Seat Leaning Post	9
Leaning Post SEating w/ Yeti Cooler	10

Electronics	10
Head	10
Speaker	10
Walk-Way	10
Cockpit	10
AFt Bench Seat w/Storage	10
Aft Bench Seat	10
CONTACTS	11
Contact details	11
Telephones	11
Office hours	11
Address	11

No Name — CHRIS CRAFT Page **4** of **11**

SPECIFICATIONS

Overview

This 2014 Catalina 29 is a sporty luxury center console ready for fishing, cruising or a great tender to a large yacht. Like all Chris Crafts, you will enjoy standing out from the rest. Her deep vee hull with 21 degrees of deadrise will give you one sweet dry ride. Even in rough seas, she is a dry smooth ride that wouldn't disappoint even the most critical captains. Don't let her beauty and elegance fool you. She is very smooth and solid like a tank. Equipped with state of the art electronics, fusion surround system with JL speakers throughout . custom captains high backed helm chairs, a folding rear lounge, a beautiful teak folding table in the cockpit, stainless steel drink holders, large tecma toilet and walk-in console cabin with sink and luxury bathroom fittings, iceboxes, a windlass for push-button anchoring and a classy snap-in swim ladder. The fusion of this midnight blue hull and ivory cream with coach water line stripe is simply gorgeous. Combined with her teak accents and the beautiful upholstery inserts she boasts a very elegant and versatile day boat. **You will be blown away when you see her in person.**

2014 model never titled. She comes with all warranties

She is easily the most stunning fishing boat available on the market today

Perfect Yacht Tender

You cannot let this one belong to someone else!

Basic Information

Category: Center Console Model Year: 2014

Year Built: 2014 Country: United States

Dimensions

LOA: 29' 0" (8.84m) **Beam**: 10' 2" (3.10m)

Min Draft: 1' 6" (0.46m) **Clearance**: 9' 1" (2.77m)

No Name — CHRIS CRAFT Page **5** of **11**

Speed, Capacities and Weight

Displacement: 8200 Pounds Water Capacity: 31 Gallons

Fuel Capacity: 220 Gallons

Accommodations

Total Heads: 1

Hull and Deck Information

Hull Material: Fiberglass

Engine Information

Engines: 2 Manufacturer: Yamaha

Model: 4 Stroke Engine Type: Outboard

Fuel Type: Gas/Petrol

No Name — CHRIS CRAFT Page **6** of **11**

DETAILED INFORMATION

Standard Features

• 3 Year Chris-Craft Protection Plan • Curved Glass Windshield w/ Stainless Steel Frame

• Deep-V Hull Bottom with Flared Bow • Electrical Wiring – Color Coded and Numbered Circuits w/ • Deutsch Connectors • EPA Compliant Fuel System • Fish Boxes Port & Starboard • Flip-up Forward Console Seat with Porta-Potti Head • High-End Fit and Finish with Custom Chris-Craft 316 Stainless Steel Hardware • Three-Step Stainless Steel Swim Ladder • Meets ABYC and USCG Standards • NMMA Certification • Self-Bailing Cockpit • Vacuum Infused Deck Hatches • Wood Free Hull Construction

Standard Equipment

• 5 Year Transferable Hull Structural Warranty • Accessory Outlet, 12v • Accessory Outlet, USB / Auxiliary Input • Aft Bench Seat w/ Storage • Anchor Locker, Foredeck

• Battery Tray • Battery Switch Panel w/ Breakers • Bench Helm Seat Leaning Post with Yeti Cooler • Bilge Pump w/ Auto Float Switch • Bimini Top w/ Stainless Steel Bows

• Blower, Bilge • Bow and Stern Eyes, Stainless Steel • Bow Light Cover, Stainless Steel

• Canvas Console Cover • Canvas Helm Seat Cover • Embroidered Pennant with Stainless Steel Pole • Flag Kit with Stainless Steel Magnetic Pole and Base • Fold Down Aft Seat • Fresh Water System - 13 Gallon • Chrome Plated Stainless Steel Fasteners

• Cockpit Drains, Stainless Steel • Cockpit LED Lights • Cockpit Grab Rails, Stainless Steel • Compass, Dash Mounted • Custom Chris-Craft Branded Gauge Package

• Custom Rod Storage, Port and Starboard • Dash Light Dimmer • Depth Finder

• Electric Trim Tabs with Indicator Lights • Fuel Tank w/ Anti-Siphon Valve • Horn – Electric, Stainless Steel Trumpet • Navigation Lighting • Ignition – w/ Custom Chris Craft Branded Key • Ignition – Safety Switch • Porta-Potti • Pull-Up Stainless Steel Mooring Cleats • Raw Water Wash Down • Sport Top, Powder coated, Indirect Lighting and Pull Out Sun Shade • Steering, Tilt • Steering, Power Assisted • Steering Wheel, Custom Mahogany • Stereo – Fusion® , AM/FM Stereo w/ Speakers (4), • In-Dash Remote Control and MP3/USB inputs (Fusion Bluetooth enabled) • Swim Ladder, Stainless Steel • Teak Maintenance Kit • Three Drawer Tackle Box in Console

• Windshield, Stainless Steel Frame

Options & Accessories

• CE Certification • Cockpit Package (Forward Sun Pad Cushion, Fiberglass Table and Pedestal) • Covers for Twin Outboards (Same Color as Console Covers) • Bow Docking Lights – LED • Dockside Pump Out •Forward Table Package (includes forward sunpad, fiberglass table, and pedestal) • Garmin 7612 Electronics Package (Dual Screens) - 12"

No Name — CHRIS CRAFT Page **7** of **11**

Multifunction Display with Chartplotter, DF and VHF • Mooring Cover • Tecma Head System (Includes Dockside Pumpout) • Underwater Lights (2) • Waste Macerator with Ball Valve (Must Select Tecma Head) • Windlass with Stainless Steel Anchor and Approx. 200' Line

Engine Preformance

Twin Yamaha (300 PSHP x 2) 4 Stroke - Digital Controls

RPM	MPH	GPH	MPG
1000	5.8	2.7	2.19
1500	8.2	4.3	1.91
2000	9.4	7.3	1.29
2500	15.7	11.4	1.38
3000	25.7	13.3	1.94
3500	32.3	17.3	1.87
4000	37.9	23.4	1.62
4500	42.9	30.6	1.40
5000	48.2	37.5	1.29
5500	52.8	44.8	3 1.18
5900	57.7	52.0	0 1.11

Electronics

- VHF -Icon
- GPS -Garmin
- Cockpit JL speakers
- Fusion Sound System

Deck Configuration

- Folding Aft Seat,
- Folding Aft Teak Table

No Name — CHRIS CRAFT Page 8 of 11

- Transom Walk Thru
- Standard Helm Seat

Exclusions

Owner's personal belongings.

Disclaimer

The Company offers the details of this vessel or yacht in good faith but cannot guarantee or warrant the accuracy of this information nor warrant the condition of the vessel. A buyer should instruct his representatives, agents, or his surveyors, to investigate such details as the buyer desires validated. This vessel or yacht is offered subject to prior sale, price change, or withdrawal without notice.

No Name — CHRIS CRAFT Page **9** of **11**

PHOTOS

Bow Seating	Bow Table
Forward Seating	Helm Seating
Helm Station	Custom Mahogany Steering Wheel
Helm Station	Custom Mahogany Steering Wheel
Helm Station	Custom Mahogany Steering Wheel
Helm Station	Custom Mahogany Steering Wheel
Helm Station	Custom Mahogany Steering Wheel
Helm Station	Custom Mahogany Steering Wheel
Helm Station Helm Station	Custom Mahogany Steering Wheel Bench Helm Seat Leaning Post

No Name — CHRIS CRAFT Page 10 of 11

Leaning Post SEating w/ Yeti Cooler	Electronics
Head	Speaker
Walk-Way	Cockpit
AFt Bench Seat w/Storage	Aft Bench Seat
Art bench Seat W/Storage	Art Bench Seat

No Name — CHRIS CRAFT Page 11 of 11

CONTACTS

Andrey Shestakov, leading yacht broker of the sales department of Shestakov Yacht Sales Inc. Shestakov Yacht Sales Inc., the official representative of the Miami/Fort Lauderdale FL headquarters.

Contact details

Email:

Web: shestakovyachtsales.com/en/

andrey@shestakovyachtsales.com

Telephones

USA: +1(954)274-4435

Office hours

Monday - Saturday: **9:00 - 21:00** EDT Sunday: **closed**

Address



Harbour Towne Marina, 850 NE 3rd St, STE 213, Dania, FL 33004